# CONNECTICUT STATE DEPARTMENT OF EDUCATION BUREAU OF FISCAL SERVICES REPORT CARD PPE REPORT 2018-19

DISTRICT: 209 DISTRICT NO. 9

#### PER-PUPIL EXPENDITURES

			STATE, LOCAL	-
		FEDERAL	AND OTHER	
CODE	SCHOOL NAME	FUNDS	FUNDS	TOTAL
2096112	Joel Barlow High School	189	23,288	23,477
TOTAL DIS	STRICT EXPENDITURES	179	24.581	24.759

# CONNECTICUT STATE DEPARTMENT OF EDUCATION BUREAU OF FISCAL SERVICES REPORT CARD EXPANDED PPE REPORT 2018-19

DISTRICT: 209 DISTRICT NO. 9

#### PER-PUPIL EXPENDITURES

CODE	SCHOOL NAME	EXPENDITURES P	UPILS	FED	ST/LOC	PRI/OTH	SCHL PPE	CENTRAL	TOT PPE
2096112	Joel Barlow High School	18,279,759	875	189	20,679	24	20,891	2,586	23,477
TOTAL SCH	HOOL EXPENDITURES	18,279,759	875	189	20,679	24	20,891	2,586	23,477
	CENTRAL EXPENDITURES	2,262,694	875	0	2,586	0		2,586	47 655
	D/OUT OF DISTRICT PUPILS STRICT EXPENDITURES	2,335,087 22,877,540	49 924	0 179	47,655 24,558	0 22			47,655 24,759

# CONNECTICUT STATE DEPARTMENT OF EDUCATION BUREAU OF FISCAL SERVICES SCHOOL LEVEL PPE COMPARISON BY FUNCTION REPORT 2018-19

DISTRICT: 209 DISTRICT NO. 9

#### PER-PUPIL EXPENDITURES

		LOW	HIGH		PCT HI	INSTR-	SUPPORT	IMPROV	LIBR	SUPPORT	SCH00L	PLANT	TRANSP	ENTERP	MINOR	
CODE	SCHOOL NAME	GRADE	GRADE	ENROLL	NEED	UCTION	SVCS	INSTR	SVCS	INSTR	ADMIN	OPS	NOTHOME	OPS	CONST	TOTAL
2096112	Joel Barlow Hig	09	12	875	19	16.128	321	0	437	0	1.122	2.715	169	0	0	20.891

# CONNECTICUT STATE DEPARTMENT OF EDUCATION BUREAU OF FISCAL SERVICES SCHOOL LEVEL PPE COMPARISON BY OBJECT REPORT 2018-19

DISTRICT: 209 DISTRICT NO. 9

PER-PUPIL EXPENDITURES

		LOW	HIGH		PCT HI		<b>EMPLOYEE</b>	PURCH				
CODE	SCHOOL NAME	GRADE	GRADE	ENROLL	NEED	SALARIES	BENEFITS	SVCS	SUPPLIES	PROPERTY	OTHER	TOTAL
2096112	Joel Barlow High School	09	12	875	19	13,588	4,232	1,635	954	437	45	20,891

# CONNECTICUT STATE DEPARTMENT OF EDUCATION BUREAU OF FISCAL SERVICES DISTRICT LEVEL PPE BY FUNCTION REPORT 2018-19

DISTRICT: 209 DISTRICT NO. 9

			PUPIL	
FUNCTION	EXPENDITURES	PUPILS	BASIS	PPE
INSTRUCTION	16,446,732	924	1	17,799
SUPPORT SERVICES - STUDENTS	280,464	875	2	321
SUPPORT SERVICES - INSTRUCTION	382,447	875	2	437
SUPPORT SERVICES - GENERAL ADMIN	342,015	875	2	391
SUPPORT SERVICES - SCHOOL ADMIN	981,533	875	2	1,122
CENTRAL AND OTHER SUPPORT SERVICES	348,051	875	2	398
OPERATION AND MAINTENANCE OF PLANT	2,375,372	875	2	2,715
STUDENT TRANSPORTATION SERVICES	1,720,897	875	3	1,967
FOOD SERVICES	30	875	2	0
ENTERPRISE OPERATIONS	0	875	2	0
MINOR SCHOOL CONSRUCTION	0	875	2	0
TOTAL	22,877,540	924	1	24,759

EXPENDITURES EXCLUDE FOOD SERVICES NOT FUNDED BY LOCAL FUNDS, DEBT, CAPITAL (OTHER THAN MINOR SCHOOL CONSTRUCTION AND EQUIPMENT), ADULT EDUCATION, COMMUNITY SERVICES, AND STATE CONTRIBUTIONS TO TEACHERS RETIREMENT. ALL AMOUNTS INCLUDE REGULAR AND SPECIAL EDUCATION. THIS REPORT IS BASED UPON DATA REPORTED BY SCHOOL DISTRICTS; QUESTIONS CONCERNING REPORT DATA SHOULD BE ADDRESSED TO THE SCHOOL DISTRICT.

#### PUPIL BASIS

- 1 ENROLLMENT PLUS OUTPLACED PUPILS
- 2 ENROLLMENT IN DISTRICT SCHOOLS
- 3 TOTAL PUPILS TRANSPORTED

# CONNECTICUT STATE DEPARTMENT OF EDUCATION BUREAU OF FISCAL SERVICES DISTRICT LEVEL PPE BY OBJECT REPORT 2018-19

DISTRICT: 209 DISTRICT NO. 9

			PUPIL	
OBJECT	EXPENDITURES	PUPILS	BASIS	PPE
SALARIES	12,301,498	875	2	14,059
EMPLOYEE BENEFITS	3,811,249	875	2	4,356
PURCHASED SERVICES	3,159,445	875	2	3,611
TUITION	2,335,087	49	4	47,655
SUPPLIES	839,651	875	2	960
PROPERTY	384,124	875	2	439
OTHER	46,485	875	2	53
TOTAL	22,877,540	924	1	24,759

EXPENDITURES EXCLUDE FOOD SERVICES NOT FUNDED BY LOCAL FUNDS, DEBT, CAPITAL (OTHER THAN MINOR SCHOOL CONSTRUCTION AND EQUIPMENT), ADULT EDUCATION, COMMUNITY SERVICES, AND STATE CONTRIBUTIONS TO TEACHERS RETIREMENT. ALL AMOUNTS INCLUDE REGULAR AND SPECIAL EDUCATION. THIS REPORT IS BASED UPON DATA REPORTED BY SCHOOL DISTRICTS; QUESTIONS CONCERNING REPORT DATA SHOULD BE ADDRESSED TO THE SCHOOL DISTRICT.

#### PUPIL BASIS

- 1 ENROLLMENT PLUS OUTPLACED PUPILS
- 2 ENROLLMENT IN DISTRICT SCHOOLS
- 4 OUTPLACED PUPILS

June 24, 2020 CONNECTICUT STATE DEPARTMENT OF EDUCATION

#### BUREAU OF FISCAL SERVICES OUTPLACEMENT PPE REPORT 2018-19

DISTRICT: 209 DISTRICT NO. 9

TUITION TYPE	EXPENDITURES	PUPILS	PPE
TUITION FOR PRIVATE, RESIDENTIAL OR OUT OF STATE	1,850,299	14	132,164
TUITION FOR INTERDISTRICT MAGNET	36,000	21	1,714
OTHER TUITION	448,788	14	32,056
TOTAL TUITION	2,335,087	49	47,655